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00° Herringbone uses 100% of any rectangular stone
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BASKETWEAVE
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Basketweave Pattern works with any rectangle stone that has a width that is half of it’s

length. Ratio is 100% one stone




THREE STONE RUNNING BOND

Three stone running bond works with any stone that has three sizes it can module

with. It uses 46% large rectangles, 31% squares and 23% small rectangles

TWO STONE RUNNING BOND

Two stone running bond works with any stone that has three sizes it can module with.

Typically, it uses 60% large rectangles and 40% squares. If you use squares and small

rectangles, the ratio shifts to 60% squares and 40% small rectangles



